DELHI URBAN SHELTER IMPROVEMENT BOARD GOVERNMENT OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEEER, C-1, Raja Garden, Near DTC Bus Terminal, New Delhi-110027

NIQ No.13/EEC-1/DUSIB/2018-19/D-825

Dated: 25.01.2019

NOTICE INVITING QUOTATION

Executive Engineer, C-1, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies on percentage rates basis in sealed cover for the following works:-

SL. N0	Name of work	Estimated Cost	Time of Completion
1.	N.O.W: GIA SH: Construction of Shishu Vatika in front of A- Block on the vacant land of 980 EWS houses at sector 16 B Dwarka	Rs. 390400.00	One Month

The quotations shall reach the office of the Executive Engineer, C-1, DUSIB, Raja Garden, New Delhi-110027 latest by 2.00 PM on 29.01.2019 which shall be opened on 29.01.2019 at 2.30 PM in the presence of intending quotationers or their representatives. The intending quotationers may collect the schedule of quantities on DUSIB website and other information from the office of the Executive Engineer, C-1, DUSIB. The terms & Conditions of the quotation are as follows:-

- 1. The work shall be carried out as per CPWD specifications.
- 2. Payment shall be made as per actual measurement at site of work.
- 3. No T&P shall be issued.
- 4. Conditional quotations shall be liable to rejection.
- 5. For any disputes the matter shall be referred to SE-I DUSIB for final decision and the same shall be binding upon both the parties.
- 6. Statutory recoveries shall be deducted from the bills of contractor as per rules.
- 7. Work shall be completed to the satisfaction of Engineer-in-charge.
- 8. Debarred/blacklisted agencies shall not be permitted to submit quotations.

EXECUTIVE ENGINEER, C-1

NOTICE BOARD

Publication on DUSIB Website

:- Construction og Shishu Vatika infront of A- Block on the vacant land of 980 EWS houses at sector Name of work :- GIA.

S.No 1 2.		Description Earth work in excavation in by mechanical means Earth work in excavator) / manual means in foundation	Qty	Unit	Rate	
		Earth work in excavation in by mechanical techniques (Hydraulic excavator) / manual means in foundation (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm trenches or drains (not exceeding 1.5 m in width or 10 sqm trenches or drains (not exceeding 1.5 m in width or soil bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed,	30.60	cum	166.40	5091.84
		within a lead of 50 m: All kind of soil.	dred sixty	six & pa	isa forty only	
2 2.		Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth: consolidating each deposited layer by ramming and watering, lead upto 50 m and lift	10.20	cum	125.75	1282.65
		upto 1.5 m . Rs. one hundred twenty five & pa		tv five or	nly	
	0	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering-All work upto plinth evel: 1:5: 10 (1 cement: 5 coarse sand: 10 graded stone aggregate 40 mm nominal		cum	4209.05	21466.16
Rs. four thousand two hundred nine and P. Five only						

4	4.2.3	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc. up to floor five level, excluding the cost of centring and shuttering and finishing: 1:2:4 (1 cement: 2coarse sand: 4 graded stone aggregate 20 mm nominal size)	4.93	cfiw	6547.70	32280.16	
		Rs.six thousand four h	nundred fi	fty only		±'	
5	5.9.2	Centring and shuttering including strutting, propping etc. and removal of form for: Walls (any thickness) including attached pillasters, butteresses, plinth and string courses etc.	17.60	sqm	378.60	6661.00	
		Rs. three hundred sixty & paisa eighty only					
6	6.1.2	Brick work with F.P.S. bricks of class designation 75 in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand)		cum	4751.65	138356.17	
		Rs. four thousand six hundred seventy seven & paisa twenty five only					
7	10.25 .2	Steel work welded in built up section/framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladders, railings, brackets, gates and similar works.	200.00	kg	85.95	17190.00	
	Rs. ninety & paisa ten only.						
8	13.61	Painting with synthetic enamle paint of approved brand and manufacture to give an even shade: Two or more coats on new work	15.00	sqm	78.40	1176.00	
		Rs. seventy feight & paisa fourty only					
	-						

Add C. I. 12.75%

48781.52

431381.70

40981.26

390400.44

3904.00